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T 1. A can do a piece of work in 10 days and B
AD can do the same work in 30 days, In how

— | many days will A and B together
= 3 complete the work ?

A B A f&ft a1d ®) 10 RT F % F@ar ¢ SR
o 30 B 31 & 3t 30 3T A &Y AFar 8, A 3R

B I fie®y 39 o1 & fbaa R A g
P ?

(l
m | )

1
-|&

c
SN——
o0
WIN olvn &N

g &
~ =)
o1

kv kHAN GLOBAL STUDIES




o | I =
AfFfterd St 20 RTI A FT THarT 8 3T B
SHedHoRTAITTIAPATR, A 3R B
7
a) 10

2. A can do a piece of work in 20 days and B
can do the same work in 30 days, In
howmany days will A and B together
complete the work ?

ST ey 39 ord & fFaa 9 & @@
b) 15
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3. A can do a piece of work in 29 days and B
can do the same work in 31 days, In
approximately how many days will A and

B together complete the work ?

AfFft ard @t 29 RA A SR wFar g 3R B
SHied s 31 A A v aPare, A3 B
21 e 39 o &) ey fhaa i &
RT B 2

a) 17

b) 14

c) 15

d) 16

“T.Y canoronar sroome. . eyreeew BB




kv kHAN GLOBAL STUDIES

4. Ravi, Mohan and Govind can complete a task
in 12 days, 10 days and 15 days respectively.
In how many days can Ravi, Mohan and

Govind together complete the same task ?

M, AgT R Mfde ved & & FHAw: 12
fa=,10f¢7 ok 15 iR & @1 &~ w&a g1 9,
Higd 3R Mfde ve Iy sy It a1 &
PRI A R e aaa 2

a) 2 N

c)6 d) 8
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60 <—TW 5. A alone can do a piece of work in 60 days
/ Z and Aand B together can do the same
work in 20 days, In how many days will B

GO alo alonecan complete the work ?

T= T W g-{ A 5t 1 3 60 7 o FT FaT £ 3R
A - - A 3R B ey It &1f 3t 20 RI A

S E &
TP ¢, a9 B APl 39 F1 @ fpax A

= 30(;[?8 ﬁwm?
a) 35 b) 20

c) 30 d) 25
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6. A is thrice efficient as good as B. If both
together can do a piece of work in 12 days,
i & then in how many days can A alone
E— |3 IJ
complete the same work ?

A Bt &WaT B | @19 11 § af 31 e

TW= Yx|a-= felt ol &t 12 T & Fad @ O A rdben

39 fpaa feai A s 2
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7. The efficiency of A is % times that of B. If
both together can do a piece of work in 16
& days, then in how many days can B alone

E—s g L, Tl= ¥ complete the same work ?
He A P &HAT B BT % AT § Al g fraew
fmg,l, feit ®1d ®t 16 31 & H=a @ & B SrFpen
-3 IR frart Rt & w2
y” = Odup
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8. A is twicemore efficient as good as B. If
both together can do a piece of work in 24
days, then in how many days can A alone

complete the same work ?

A P &HaT B | SN ¥ & afy @t
ey fPfiad st 2a i d F@ e A
a1 IA fpaa R F s 2
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9. A+B can do a piece of work in 5 days. If the
efficiency of A is doubled and that of B is
1/3rd then the work is finished in 6 days. In
how many days will A alone do the work?

A+BfFfted dis A d svapd g1 afle A

P &HdT 2 TET 3R B BT &H4T 1/3 B ol &I¢
a9 &1d 6 d U BaT 21 A Pdr 39
o1 &I fdax e § svm
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10. A 3R B fie®r f5dlt ord &t 5 o9 & @1

3T dg 4 =T

(A+B)x5 = @”*55)“' B ST 21 A B P 8 39 B B R B
# fpaq &= &

‘-5—6.'_‘5_6= @‘*@&6 A and B can complete a place of work

together in 5 days. If A works at twice his
iﬂ = gB T = speed and B at half of his speed. How many
=10 days would it take for A alone to complete
- l the work?
l

2 @ 18  (b) 15
| ﬂ ©12 \HT0
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13. A can do a work in 4% days more than the
o \ fa time taken by A and B and B in 8 days
g more than the time taken by A and B, then

in how many days will both together do

A+8
87\ the work?
\]%xgg a AHWE’IA@B?BW%QW'@
fe1 ot qut B 36 #d F1 A 3R B ERI
2l ferg g wwa A(8)feT iftre & wvar @
d“?" S e Iu a1l 3 fFaa R A &4 2
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14. A can do a work in S% days more than the

time takenby Aand Band Bin 8 % days more

than the time taken by A and B, then in how

many days will both together do the work?

A &t o1f &t A 3R B gRT forg wwa @
f&T aiftre auT B 39 &1d &Y A 3R B gRT forw
TR AT F 8- o aiftre # wvar @t <
firee? 39 o1l & fraa RA A 31 2
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GO 15. A and B can do a piece of work in 15 and 20
28 /\;\ ;Fugj T days respectively. A starts the work and both
A & %—" h—b>s | work inalternate days, then in how many days
15 <0 Q’ 3—> | the whole work will be finished?
> P A 3R B frelt &1d &t Haw: 15 vd 20 &7 &
X8  «xsg I UPA 21 A P I ST & 3R gl UP-2
06— I mmmﬁm%?ﬁmmmﬁ
=4 — ) & 9T gR 2
60 |3 2
daaj (a) 19 (b) 18-;
(c) 17 (d)17
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16. A and B can finish a piece of work in 20 and

GO
\ 30 days respectively if they work on
E— 3 Q A— 3— | . ;
alternate days then in what time the whole
\‘ work will be finished?
030 O § A 3 B f5elt &1d @t www: 20 3R 30 R

RS X1a A g X 9P £1 3 UP P 2T BleH

GD\’&L.O\‘,}) mmﬁ?a‘rmmﬁmﬁmﬁm

(a) 20 W4

(c) 30 (d)32
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